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1THEX 17T Bl X 4 5 S B # O ATEX 1T EL X 4 5 58 7t it A fTEX 1T Bl X 4 5 S it Juingid
1/RER 85 95 180 51 201 | &7 ERED 360 387 747 279 36 |BHABEN 500 500 1,000 284
(0] 1) | ( 1) (—TH) 3) NniC 4 STH) 0) | ( 1) | ( 1)
pALUN = 351 382 733 275 202| &7 R D 665 700 1,365 537 321 | HEE— 0 0 0 0
(0] 1) | ( 1) (ZTH) 2) NniC 3 (—T H1~4%Hh) 0/ olC o0
3| HTH 74 92 166 53 203 |& /7 AR 583 600 1,183 444 322| X HE— 55 51 106 34
(O ool 0 (ZTH) 0) 1) | ( 1) (ZT B4 0/ olC o0
4B 362 419 781 328 204 | & /7 FAbER 517 546 1,063 379 323 | HE— 678 637 1,315 381
(O ool 0 (MTH) 1) 2 C 3 (=T B4 0) | ( 1) | ( 1)
5— /B4 73 64 137 33 211 |k 435 450 885 333 324 | HEE 348 364 712 242
(O ool 0 (—TH) 0) 1) | ( 1) (U T H1~17FH) 0/ olC o0
6| —/F4 93 91 184 50 212 |kt 202 253 455 165 325|E HEE 679 702 1,381 400
(0] 1) | ( 1) (ZTH) 0) 0 C 0 (BT B4 0/ olC o0
7= B4 174 158 332 107 213 |kt 291 274 565 192 326 | HE— 320 354 674 189
(O ool 0 (=TH) 0) 0 C 0 (ST H1~17%H) 0/ 2/ 2
8|EFH 169 162 331 102 214 |k 354 380 734 279 327 | HEE = 771 799 1,570 448
(0] 1) | ( 1) (MTH) 0) 1) | ( 1) (T B4 0/ C 0olC 0
9| gt H 55 46 101 28 221 | BT OY—TH 575 600 1,175 403 328 |k HEE = 225 224 449 141
(0]« 1) | ( 1) 0) 0, C 0 O\T H48) 0) | ( 1) | ( 1)
105 71 69 140 40 222 | BHITOY T H 698 727 1,425 483 329|pk M = 2 7 9 5
(O ool 0 1) 51 C 6) LT B4 0/ ol o0
11| K& 47 52 99 22 223|BHITDOY =T H 858 857 1,715 584 331 | HEE — 0 0 0 0
( 0) | ( 0) | ( 0) 0) 0) | ( 0) (—T H5~8%H) 0) | ( 0) | ( 0)
12|45 5% 107 94 201 51 231|HEE—TH 617 656 1,273 409 334 | HEE = 276 284 560 187
( 0) | ( 1) ( 1) 0) 0) | ( 0) (lUT H18~28%i) 4) | ( 6) | ( 10)
13 K& 51 54 105 25 232|lHEE-TH 793 847 1,640 548 336 | HEE — 424 445 869 246
(O ool 0 1) 2 C 3 (ST H18~35%H1) 0/ olC o0
14 A FH 81 87 168 11 233|HER=TH 385 395 780 253 401| ERAA—TH 348 360 708 225
(O ool 0 1) NniC 2 2. 0l 2
15/8A 113 92 205 54 241 | BTG — 334 336 670 219 402 ERAARTTH 0 0 0 0
(O ool 0 1) 2 C 3 0/ olC o0
16| P& 1% H 113 118 231 59 242 |1 T54E — 3 5 8 4 410 KiBK 614 618 1,232 356
(0] 1) | ( 1) 0) 0, C 0 5) | ( 10) | ( 15)
20 [JE K fh 235 213 448 161 301 | MG HH— 428 455 883 330 412 KiGKIR 235 227 462 141
( 0) | ( 0) | ( 0) (—TH) 2) 0) | ( 2) 0) | ( 0) | ( 0)
101 | K74 344 375 719 244 302 RIAEEH— 420 466 886 349
(—TH) ( NI 3 4 (ZTH) 1) 2 C 3
102 | K74 271 272 543 202 303 HGH = 566 626 1,192 429
(ZTH) (Ol ool 0 0) NnicC 1
111 O&hE—TH 840 847 1,687 575 304 RAGE Y =— A 170 180 350 159
(. 5]1C 5( 10) 1) 4) (5
M2/ 0&0WETH 451 423 874 325 M |\BFHABEE— 451 498 949 318
(O ool 0 (—TH) 0) 1) | ( 1)
12117 —> bl 281 250 531 157 312\BHABE 468 520 988 304
(O ool 0 (ZTH) 0) 0 C 0
140/ L HDR 162 136 298 112 NI FAEE= 611 620 1,231 362
(—TH) ( NDIC 0 ( 1) (ZTH) 1) NniC 2
141 | HOR 51 60 111 42 M4 BHABRE= 198 204 402 136
(—TH) (Ol ool 0 (MTH) 3) 3 6)
142\ L H0R 350 360 710 255 5 HAREL 974 909 1,883 593
(ZTH) (. 2/C 51 D (WTH,LTH) 1) 0) | ( 1)
() PIISNE A B SE L THhHOIMK [ A ] B 22435 A % 23074 A 5 45509 A 15,162 tHE
KIZV—2e X, O E— T BATBIXIZE £4L508, BN L TVET, ( 39) ( 70) ( 109)
SO KM IZ, BT FATEXISE FD08, HBNCERFL TET, [ BTAXRET ) B 22409 A % 23035 A st 45444 A 15,143 fH
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